2009 GJCL Latin Advanced Grammar Exam

FILL IN THE FIRST FOUR BLOCKS OF THE ANSWER SHEET WITH OUR OWN
FOUR DIGIT CODE, THEN THE NEXT FOUR BLOCKS WITH THE CODE FOR THIS
EXAM (1013). Fill in completely the space on the answer sheet corresponding to the
correct answer for each question. DO NOT WRITE ON THE EXAM ITSELF.

(“you”) persuaded. a.td b.tul c.tibi d.te
. Discimus docendd: the underlined word is a. participle b. gerundive c. gerund d. supine

(“do not”) eum laudare. a. fac non b.ndn age c.ne fac d.nolt
She studies to learn. a. ut discat b. discere c. discendum d. docére
Superlative of pulchre. a. pulchrius b. pulcherrimé c. pulchrissimus d. pulchrissimé
Introduces question expecting negative reply. a.-ne b.ndénne c.num d.itane
Tam 1ratus erat ut (“he left”). a. abiret b.abeat c. abiit d. abibat
Igne viso, omngs perterriti sunt. a. seeing the fire b. with the fire in sight

c. when the fire had been seen d. with fiery vision

9. Everyone should do this = Id faciendum est. a. omne b.omnibus c.omnés d.totum
10. Eum (“had made a mistake”) scivimus. a. erraverat b. erravit c. errare d. erravisse
11. mirabile dictd. a. in diction b.tosay c. by saying d. with speaking
12. Amicos saliitatum veniet. a. to greet b. saluting c. the salutatorian d. greeting
13. “so much”) melius &git. a. ita multum b. sic multd c. tantd d. tanta
14. Dixit s€ 1€gisse quds (“you had sent”). a. miseras b. misissés c. mitterés d. misist
15. Leo dentibus timétur. Ablative of a. cause b. means c.manner d.specification
16. Hi lingua et I&gibus inter s€ differunt. Ablative of a. cause b. means c. manner

d. specification
17. Liber est mihi. a. The book is to me. b. Ihave a book. c. Freedom is mine. d.Iam free.
18. Hos libros dond misit.

a. She sent these books as a gift. b. I am donating these books he sent.

c. He sent these books with a gift.  d. She sent these children for a donation.
19. Suffix indicating the agent or performer of action. a.-tid b. -tor c. -bilis d. -tia
20. Suffix meaning “full of” or “characterized by.” a.-0sus b. -alis c. -anus d. -icus
21. Objective genitive. a.amor laudis b. amicus puellae c. pars civium d. milia virorum
22. Prefix meaning “back” or “again.” a.inter- b.re- c.per- d. prae-
23. “Three of the women.” a. ab féminis b. féminarum c. féminae d. ex féminis
24. Nonne venit?

a. Is he coming? b. Isn’t he coming? c¢. He isn’t coming is he? d.Is Nonnus coming?

25. Timeo ut id crédant. a. that they may not believe this b. that they may believe this

c. as they believe this d. in order that they may belive this
26. Venit ad libros legendds. a. for books to be read b. to the book reading

c. to read books d. at the book reading
27. Si quis metuéns vivet, liber mihi non erit umquam. Dative of

a. indirect object b. possession c. reference d. agent
28. There was no one who knew this. a. scivit b. sci€bat c. sciat d. sciret
29. Licet tibi abire. a. He would like you to leave. b. You may leave.

c. It is pleasing for you to leave. d. You can love it, or leave it.
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30. Revenient hac nocte. a. tonight b. for the night c. from this night d. with this night
31. They lived in Rome. a.in Roma b.ad Romam c.Roma d.Romae
32. Domi visus est. a. It is Domus’ vision. b. He was seen at home.
c. It is seen in the home. d. It is visible in the house.
33. He lived for many years. a. multf anni b. multls annis c. multds annds d. prd multls annis
34. Plural of the verb iz. a.int b.ient c.eunt d.eant
35. Dicunt hoc fierl. a.is being done b. was happening c. is on fire d. was made
36. Monuit eds né hoc facerent. a.they were doing b.todo c.they mightdo d.they maydo

37. (“me”) placuit. a.mel b. mihi c¢. mé d. mémeé

38. (“money”) sapienter Gtitur. a. pecinia b. pecliniae c¢. pectiniam d. peclinia
39. (“Follow”) him! a.seque b.sequi c.sequere d.sequatur

40. (“us”) nocuérunt. a.nds b. nostrum c. nostri d. nobis

41. If he had said this, he would have been wrong.
a. errabit b. erraverit c. erravisset d. erraverat
42. If you should love Latin, you would be wise. a. amas b.ameés c.amabis d. amare déb&s
43. We’ll be happy, provided that you don’t leave.
a. ndn discédis b. ndn discédas c. n€ discédés d. né disceédas
44. Comparative of celeriter. a. celerior b. celerius c. celeritius d. celerrimé
45. Change vult to imperfect subjunctive. a. velit b. vellet c. volaret d.volebat
46. “Bring me help, Marcus!” a. fer b.fera c.feré d. fere
47. “They ask what he will do.” a. faciet b. faciat c. facibit d. faciébit
48. Superlative of multus. a. plurimus b. maximus c. multissimus d. maior
49. Sol est clarior stéllis. a. from the stars b. with the stars c. by the stars d. than the stars
50. Gaius dixit s€ itivisse eam. a. helped himself b. himself to have helped
c. that he had helped d. that he himself helped




2008 GJCL Létin Advanced Grammar Exam
FILL IN THE FIRST FOUR BLOCKS OF THE ANSWER SHEET WITH OUR OWN FOUR DIGIT CODE, THEN

THE NEXT FOUR BLOCKS WITH THE CODE FOR THIS EXAM (1013). Fill in completely the space on the answer
sheet corresponding to the correct answer for each question. DO NOT WRITE ON THE EXAM ITSELF.

1. Select the type of subjunctive clause underlined in this sentence: Cicerd rogat quam Quintus amet.

a. jussive noun clause b. indirect question ¢. hortatory d. purpose

2. Select the type of infinitive underlined in this sentence: eum diligere non possum.

a. complementary b. indirect c. historical d. purpose

3. What type of verb is oportet, oportére, oportuit?

a. deponent b. transitive c. semi-deponent d. impersonal

4. Select the proper adjectival form to complete this sentence: illa canit cum voce.

a. dulca b. dulce c. dulet d. dulco

5. Select the correct translation of the underlined clause: erd bonus, dummodo né discedas.
a. since you are not leaving b. provided that you do not leave  c. until you leave d. as long as you leave
6. Which of the following verb forms is pluperfect subjunctive?

a. fecerat b. fecit c. fecerit d. fecisset

7. Select the future passive infinitive of audia, audire, audivi, auditum.

a. auditum Tr1 b. audnrt c. audttum esse  d. auditlirus esse

8. Select the vocative singular form of the noun filius, fili, m.

a. filie b. filius c. filt d. filit

9. What is the ablative singular of the noun mare, maris, n.?

a. mart b. mare c. mard d. maria

10. In the sentence, peciinia est mihi, what does the dative form mihi most likely indicate?

a. the indirect object b. possession c. agent d. source

11. Which of the following numbers does not decline?

a. unus b. milia c. septem d. trés

12. Select the type of ablative underlined in this sentence: odio tyranni in exsilium fagit.

a. manner b. means c. accompaniment d. cause

13. What is the singular imperative of ed, re, if, itum?

a1 b. el ¢. It d. it

14. Select the type of subjunctive clause underlined in this sentence: audio bene ut bene discam.
a. result b. jussive C. purpose d. indirect question

15. What is the dative singular form of the noun gend, geniis, n.?

a. genul b. genii c. geni d. genud

16. Select the type of subjunctive clause underlined in this sentence: timés né discipulf tul non discant.
a. result b. purpose c. fear d. jussive

17. Fill in the blank with the correct verb form: mater tua dicit t¢ pectiniam

a. amare b. amas c. amatis d. amavistt

18. What type of verb is auded, audére, ausus sum?

a. transitive b. semi-deponent c. deponent d. complementary

19. Which word correctly translates she has led into Latin?

a. daxit b. diicet c. diixerat d. diicit

20. What type of conditional sentence is the following: st Caesar illud dicet, id faciet.

a. contrary to fact past b. simple fact past c. future more vivid d. future less vivid
21. What is the feminine genitive singular form of ille, illa, illud?

a. illtus b. illi c. illis d. illae

22. Into what Latin case should the underlined words be translated: I have studied Latin for ten years.
a. genitive b. ablative c. accusative d. dative

23. What type of ablative does this sentence contain: Caesar eds vi superabat.

a. manner b. time when c. characteristic d. means

24. What is the imperative singular of ferre?

a. fere b. fer ¢, ferre d. fert

25. What is the case of servanda in this sentence: amicitia tibi servanda est.

a. nominative b. genitive c. dative d. ablative




26. In the sentence amicitia tibi servanda est, what is the best translation of tibi?

a. with you b. by you c. for you d. to you

27. What is the accusative plural of vis, vis, f.?

a. viros b. vim c. viribus d. virés

28. Fill in the blank to translate she praised herself correctly: ea laudavit

a. ipsam b. ipsa c.sé d. sibi

29. What is the third principal part of the verb tolls, tollere?

a. tollut b. sustult c. tolt d. sublatt

30. What type of adjective is underlined in this sentence: fortés semper vincunt.

a. substantive b. comparative c. predicative  d. superlative

31. What is the second person plural imperative of the verb sequor, sequ, seciitus sum?

a. sequl b. sequere c. seque d. sequimint

32. What type of subjunctive does the following sentence contain: Ameémus hunc librum bonum!

a. indirect question b. result c. hortatory d. purpose

33. What type of construction is underlined in this sentence: Caesare interfecto, Cicerd gaudet.

a. ablative of means b. ablative absolute c. clausal ablative d. incomplete statement
34. Which of the following verbs is in the future tense?

a. sTs b. laudet c. agébat d. aget

35. What is the dative singular form of hic, haec, hoc?

a. hi b. huius c. huic d. ho

36. Select the correct translation of the underlined clause: cum eum laudaret, tamen eum ndon amavit.
a. although she praised him b. since she praised him  c. when she praised him  d. with him she praised
37. What is the third principal part of the verb mittd, mittere?

a. mittivi b. mitut c. mitT d. misT

38. Num introduces a question in which the speaker expects what answer?

a.yes b. no ¢. uncertain d. indirect

39. Select the type of subjunctive clause underlined in this sentence: is scribit tanta arte ut liber suus videatur perfectus.
a. indirect question b. jussive C. purpose d. result

40. Select an acceptable translation of the phrase mirabile visi. .
a. amazing in sight b. amazing to see c. amazing vision d. amazing sight

41. What case does the preposition ante always take?

a. nominative b. genitive c. accusative d. dative

42. Select the type of subjunctive clause underlined in this sentence: quis est qui illud faciat?

a. purpose b. indirect question c. relative clause of characteristic  d. proviso

43. As a prefix, a or ab indicates direction :

a. towards b. against c. into d. away from

44. Select an acceptable translation of the underlined clause: rogaverunt quid factiirus esset.

a. what he had done b. what he did c. what he would do d. what he is going to do
45. Into what one Latin word could you translate the underlined clause: We avoid the mob, which is expecting us?
a. exspectare b. exspectat c. exspectatam  d. exspectantem

46. Into what form should you put the noun Roma to translate the underline phrase: We stayed at Rome.
a. Romam b. Roma c. Romae d. Roma

47. What is the superlative form of the adverb multum?

a. plirimum b. plis c. multius d. multissimé

48. What is the second person plural present tense form of nala, nolle, nolut?

a. non vis b. nolitis c. ndn vultis d. nolétis

49. What type of formation is underlined in this sentence: fagit currendo celeriter.

a. gerund b. periphrastic c. gerundive d. infinitive

50. What is the comparative form of the adjective parvus, a, um?

a. peior, peius b. plas c. prior, prius d. minor, minus




2007 GJCL Latin Advanced Grammar Exam

FILL IN THE FIRST FOUR BLOCKS OF THE ANSWER SHEET WITH YOUR OWN FOUR DIGIT CODE, THEN
THE NEXT FOUR BLOCKS WITH THE CODE FOR THIS EXAM (1013). Fill in completely the space on the answer
sheet corresponding to the correct answer for each question. DO NOT WRITE ON THE EXAM ITSELF.

1. Which word translates “he has sent” into Latin?

a. mittit b. missus c. misit d. mittet

2. What type of subjunctive does the following sentence contain? “laudémus patriam nostram.”

a. dependent b. result c. deliberative d. hortatory

3. Fill in the correct verb form: “omngés dicunt t& equum i

a. cepisse b. capis c. cépit d. capigs

4. What type of construction is underlined in the following sentence? “fili visd, mater discessit.”

a. ablative of manner b. ablative of accompaniment c. ablative absolute d. dative of agent

5. What is the singular imperative of patior?

a. pate b. patere c. patt d. pati

6. Into what one Latin word should one translate the underlined clause? “She loved the man who had been freed.”
a. soliitum b. solvere c. soldtus d. solverat

7. What type of conditional sentence is the following? “sTréx essem, provincias hab&rem.”

a. future more vivid b. contrary to fact, past  c. mixed d. contrary to fact, present

8. If one wanted to translate “I enjoy fruit” using the verb @tor, into what case should one put the noun fructus?
a. accusative b. genitive c. dative d. ablative

9. What type of clause is underlined in the following sentence? “is timet né illa eum amet.”

a. result b. characteristic c. purpose d. fear

10. How should one translate the clause underlined above?
a. that she does not love him b. that she loves him  c. that she will love him d. that she will not love him
11. What type of subjunctive is the underlined clause in the following sentence? “incertum est quid sciat”

a. purpose b. indirect question c. relative clause of characteristic d. result

12. What pronoun should one use to translate the underlined following word? “The centurion killed himself?
a. eum b. sem c. S8 d. illum

13. Which verb is in the future tense?

a. dicémus b. amet c. optem d. sim

14. In what case is the underlined word in the following sentence? “pater magnopere vobis amandus est.”
a. nominative b. genitive c. dative d. ablative

15. In what number and case do all neuter nouns of all declensions always have the same ending?

a. nom./acc. singular b. gen./dat. plural c. nom./gen. singular d. nom./acc. plural

16. What type of ablative does the following sentence contain? “oculis vidémus.”

a. accompaniment b. means C. manner d. characteristic

17. What type of infinitive is the following? “fémina verbum dicere non potest.”

a. complementary b. result c. historical d. epexegetical

18. What is the ablative singular form of the noun corni, corniis, n.?

a. corniie b. cornuii c. cornil d. cornul

19. Into what case should one put the noun Roma in a translation of the following sentence? “We went back to Rome?”
a. nominative b. dative c. accusative d. ablative

20. Translate fore by a Latin word or phrase of the same meaning.

a. esse b. futfirum esse c. futlirum I d. futfirum

21. Translate the following: “hortatus est ut...”

a. He is urged b. He urged that c. He was urged to d. He was being urged to

22. What form ofille, illa, illud agrees with the genitive singular of the noun méns, montis, m.?

a. illt b. illiT c. illus d. illiris

23. Into what case should the underlined words be translated? “He had loved her for twenty years?”

a. genitive b. dative c. accusative d. ablative

24. What is the comparative form of the adjective bonus, bona, bonum?

a. maior, maius b. superior, superius c. prior, prius d. melior, melius

25. What type of formation is the underlined word in the following sentence? “discimus legendd libros.”
a. gerundive b. gerund c. periphrastic d. infinitive




26. What is the singular imperative of facere?

a. facite b. face c. fac d. faci

27. Nonne introduces a question in which the speaker expects what sort of answer?

a. “yes” b. “no” " c. indirect d. direct

28. What is the ablative plural of vis?

a. viris b. viribus c.vi d. vird

29. What form of the Latin relative pronoun should be used for the underlined word? “She is the girl who lied about me.”
a. qui b. quem c. qua d. quae

30. What is the infinitive of the verb fi6?

a. fier b. fiare c. fire d. fiere

31. What is an acceptable translation of the underlined clause? “id faciemus dummodo nos juves.”

a. when you help us b. since you are helping us c. provided that you help us d. without your helping us
32. What type of verb is licet, licére, licuit?

a. ingressive b. frequentative c. impersonal d. weak

33. Fill in the proper adjectival form: cum 1ra dixit.”

a. acra b. acr1 c. acre d. acré

34. What is the case of amanda in the following sentence? “Latina vobis amanda est.”

a. nominative b. dative c. accusative d. ablative

35. How should “Rome” be translated in the following sentence? “He remained at Rome.”

a. Roma b. Romam c. Roma d. Romae

36. What is the present, third person, singular of nolo?

a. nolit b, non vult ¢, nolat d. non velt

37. What grammatical construction is the underlined word in the following sentence? “Romam Caesarem visum Ivimus.”
a. indirect statement b. supine c. gerundive d. conditional

38. What is the dative singular of the noun rés, ref, f.?

a. rel b. red ©. IE d. reid

39. What grammatical construction is underlined in the following sentence? “Uxor mea mihi est ciirae.”

a. genitive of description b. dative of purpose  c. genitive of purpose d. double dative

40. What is the superlative of multus?

a. optimus b. pliirimus c. maximus d. summus

41. What grammatical construction are the underlined words in the following sentence? “Liicius, bonus vir, in agris
laborat.”

a. adjective b. substantive c. appositive d. exclamation

42. What type of subjunctive clause does the following sentence contain? “hoc facit ne vincatur.”

a. result b. purpose c. jussive d. fear

43, What is the fourth principal part of fero, ferre?

a. fertum b. tulum c. latum d. factum

44. How is cum best translated in the following sentence? “cum Marcum amarémus, nén tamen eum iuvare poteramus.”
a. when b. although c. since d. the fact that

45. What adjectival construction is underlined in the following sentence? “pauct dé virtlite antiqua cogitant.”

a. substantive b. superlative c. nominative d. comparative

46. What type of conditional is the following sentence? “sT id faciet, sapiéns erit.”

a. simple fact present b. simple factpast ~ c. future more vivid d. future less vivid

47. The word quam may not function as a .

a. adverb b. conjunction c. relative pronoun d. interrogative pronoun

48. How should one translate the underlined word in the following sentence? “He cast the burning wood into the water.”
a. arsum b. ardere c. arslirum d. ardentem

49. What is the third principal part of the verb cado, cadere?

a. cecidl b. cadt c. céd1 d. cast

50. What is the function of the underlined word in the following sentence? “Nautis praesum.”

a. dative of reference b. dative of agent c. dative with a compound verb d. dative of purpose
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2006 GJICL GRAMMAR LEVELS II-V EXAM

' FILL IN THE FIRST FOUR BLOCKS OF THE ANSWER SHEET WITH YOUR OWN FOUR DIGIT CODE, THEN
THE NEXT FOUR BLOCKS WITH THE CODE FOR THIS EXAM (1013). Fill in completely the space on the answer
sheet corresponding to the correct answer for each question. DO NOT WRITE ON THE EXAM ITSELF.

1. Fill in the blank: “Lingua Latma amanda est.”
a. discipulds b. discipuldrum c. discipult d. discipulis
2. Which verb is in the future tense?
a. Orés b. currés c. sedés d. laudes
3. Translate: “I believe the teacher.”
a. magistrum credo b. magistrd creédd c. magistr credo d. magister crédo
4. The plural accusative of hoc is:
a. ht b. haec c. hae d. hoc
5. What is the singular imperative of fero?
a. fer b. ferre c. ferrite d. fert
6. What is the ablative supine of curra?
a. curris b. currunt C. cursus d. cursii
7. The following contains what kind of construction: “Caesar dixit milités hostgs interficere.”
a. indirect statement b. ablative absolute c. relative clause d. purpose clause
8. What is the present infinitive of sequor?

- a. sequl b. sequare c. sequarl d. sequere
9. Which is not a possible form of incolae?
a. genitive singular b. nominative plural c. genitive plural d. dative singular
10. Translate the underlined phrase in the following: “He thought that he had run against Pheidippides.”
a. currere b. cucurrisse c. cucurrerat d. curreret
11. What case is used to denote agency in a passive periphrastic construction?
a. genitive b. nominative c. dative d. ablative

. 12. What is the comparative adverb of acer?

a. acrius b. acriter c. acre d. acerrime
13. Rés is a noun of which declension?
a2 b. 31 c. 4™ d.s®
14. What type of construction is the underlined phrase in: “Pogta necatd, Nerd solus canere potuit.”
a. ablative of means b. ablative of accompaniment c. ablative of time in which d. ablative absolute
15. Translate: mirabile visa.
a. amazingly seen b. amazing to see c. with amazing sight d. amazed by the sight
16. In the phrase “amor legendr”, what form is legend1?
a. gerundive b. gerund c. passive periphrastic d. supine
17. “Augustus s&€ numquam laudavit.” How should s& be translated?
a. himself b. him c. that man d. it
18. What kind of condition is this: “sT m& amavisset, sapiéns fuisset.”
a. future more vivid b. present contrary to fact c. past contrary to fact d. future less vivid
19. What is the 3™ person singular imperfect subjunctive of caedo?
a. caesisset b. caederet c. caesere d. caeserit
20. What kind of clause is the underlined phrase in the following: “Iste equus tam celer est ut non ab €6 vehi possim.”
a. purpose clause b. relative clause c. jussive noun clause d. result clause
21. “Sistudeant, discipull Latinam bene discant.” What kind of condition is this?
a. future more vivid b. future less vivid c. contrary to fact present d. contrary to fact past
22. The following contains what kind of subjunctive clause: “Det tibi dona.”
a. jussive b. jussive noun clause C. purpose d. result
23. Translate hortatt eramus.
a. we had been urged b. we will have been urged c. we had urged d. we will have urged
24, What grammatical construction is the underlined word in the following: “Venido Romam.”
a. vocative b. ablative of place where c. place to which d. partitive genitive

' 25. What is the future infinitive of e0?
a. Tre b. Tthrus esse c. ite d. 1sse




26. Translate the underlined word into Latin: “The general saw the enemy retreating into the Black Forest.”

a. discessos b. discédunt c. discessiirds d. discédentgs

27. What is the accusative plural of manus?

a. mand b. manis €. manui d. manuum

28. Which can modify urbis?

a.illa b. illtus c. illt d. ill1s

29. Sub can be followed by which case(s)?

a. ablative only b. accusative and dative  c. ablative and accusative d. dative only

30. Translate the underlined clause in the following: “Discipuli risérunt ut Seneca maior ridéret.”

a. so that Seneca the Elder would laugh b. because Seneca the Elder laughed

c. whenever Seneca the Elder laughed d. although Seneca the Elder was laughing

31. The following sentence contains what kind of subjunctive: “Studeamus linguae Latinae.”

a. purpose b. result c. jussive d. deliberative

32. What is the first person singular present active subjunctive of fio?

a. flam b. flerem c. fis d. figbam

33. What case is used to indicate an indirect direct?

a. accusative b. dative c. vocative d. ablative

34. Which of the following is an imperfect form of capio?

a. capiétis b. cépére c. capit d. caperem

35. Which of the following is NOT an i-stem noun?

a. ovis b. ars c. niib&s d. natio

36. Which form of the relative pronoun would be used in the following: “The soldier who loves war is a fool.”
a. qud b. quis c. qui d. quod

37. What form of hic, haec, hoc correctly modifies re?

a. haec b. hac c. hoc d. huius

38. In order to introduce a question with a “no” answer expected, the word is used:

a.non b. numné . nonne d. num

39. Choose the best translation for cum: “Cum insidias hostium congndvissem, primé tamen milit&s mittere nolut.”
a. although b. because c. while d. when

40. Translate the underlined words in the following: “Tarpeia dixit s& Ath&nas pliis quam Romam amare.”
a. more than Rome b. because of Rome c. before Rome d. more than a Roman
41. What is the present infinitive of conor?

a. conare b. cont c. conari d. conere

42. In the sentence in question 40, translate amare:

a. to love b. to have loved c. loves d. loved

43. Which of the following is the intensive pronoun?

a. hic, haec, hoc b. ille, illa, illud c. qui, quae, quod d. ipse, ipsa, ipsum
44. In the 4™ declension (masculine and feminine), what forms are identical?

a. nom. sing/gen. sing.  b. acc. sing/acc. pl. c. dat. sing./abl. sing d. gen. sing./nom. pl.
45. Lucrétia tam fidglis erat ut propter scelera L. Tarquinii s&

a. interfacta est b. interficeret c. interficiat d. interfacta erat




2004 GICL ADVANCED GRAMMAR EXAM

FILL IN THE FIRST FOUR BLOCKS OF THE ANSWER SHEET WITH YOUR OWN FOUR DIGIT
CODE, THEN THE NEXT FOUR BLOCKS WITH THE CODE FOR THIS EXAM (1013). Fill in
completely the space on the answer sheet corresponding to the correct answer for each questions. DO NOT
WRITE ON THE EXAM ITSELF.

1. Translate “they will have led.”

a. dixérunt b. dixerint c.dixerant d. ducent
2. Choose the correct form to modify urbis.

a. illius b. il c.illa d. illis

3. Fill in the blank: “Liber inveniendus est.”

a. ego b. meT c. mihi d. meé

4. What is the singular present imperative of sequor?
a. sequl b. sequimini c. sequare d. sequere

5. What is the 1¥ person plural future indicative of fi5?
a. fimus b. figmus c. flamus d. fierémus

6. “SIveniret, hoc vidéret.” What kind of condition is this?
a. contrary to fact present  b. contrary to fact past  c. simple fact present  d. simple fact past

7. Fill in the blank: “VirT debent esse e
. potenti b. potentis c. potentgs d. potentem.

o

8. Give the pluperfect passive form of intellegimus.
a. intell€cteramus b. intelléxeramus c. intellégeramus d. intell&cti eramus

9. Cicerd eius medicum viderat. How is eius best translated?
a. its b. his own c.his  d. their own

10. The comparative of magnam is:
a. maidorem b. melidrem . mindrem d. peidrem

11. The following sentence contains what use of the ablative? “Agamemnon cum alits GraecTs Troiam
vénerat.”
a. manner b. means c. accompaniment d. time when or within which

12. What form of “fortis, forte” correctly modifies amicis?
a. fortis b. fortia c. fortes d. fortibus

13. The following sentence contains what use of the ablative? “GraecT vi Trdianos vicérunt.”
a. manner b. means c. accompaniment d. time when or within which

14. The following sentence contains what kind of subjunctive clause? “Veniamus ad urbem.”
a. purpose b. jussive c. result d. jussive noun

15. Which preposition governs both the ablative and accusative cases?
a. ex b. dé c. sub d. propter

16. Which form of the relative pronoun would be used in the following sentence: “She is the woman with
whom I will go to the city.”
a. quae b. cuius c. quam d. qua




17. The dative singular of fidés:
a. fidet b. fidem c. fiderum d. fidebus

18. Translate the underlined word: “The Greek man, seeing Polyphemus, was frightened.”
a. visus b. videndus c. vidéns d. vistirus

19. Which of the following is nota 3™ declension i-stem noun?
a. méns b. urbs C. mare d. os

20. What represents a perfect form of ¢56?
a. Ttis b. Tstis c. ieratis d. ibatis

21. What case does ftor take as its object?
a. genitive b. dative c. accusative d. ablative

22.What kind of construction is “ddnis datis?”
a. ablative absolute b. passive periphrastic c. ablative of means d.ablative of agent

23. Choose the best translation: “obsequor €1.”

a. I was obeyed by him.  b. I obey him c. I am obeyed by him d. I obeyed him
24. The following statement includes what type of subjunctive? “Cicerd rogavit quid faceret.”
a. purpose b. jussive c. indirect question d. result

25 Fill in the blank: “IlIT rosas multas puellis dant.”

a. dulcioribus  b. dulciorés c. dulcioris d. dulcioris

26. Identify the comparative form of ingéns.
a. ingentius b. ingentissimus c.ingentior d.ingentioris

27. Identify the ablative singular of corpus.
a. corpus b.corpori c.corporibus d.corpore

28. “puerd crédo.” What is the case and use of puerd?
a. dative of agent b.dative with special verbs c. ablative of agent d.ablative of means

29. Friictus is a noun of what declension?
320 b3¢ 4™ 45T

30. The following statement includes what type of subjunctive clause? “Hortor eum ut id faciat.”
a. jussive noun b.result c.purpose d. indirect question

31. Translate mirabile dicti.
a. amazing to say b. an amazing speech c. by the amazing speech d.amazed by the speech

32. Translate fierT in the sentence “nescivit id fier1.”
a. to do b. to be done c. is being done  d. was happening

33. Translate the ut-clause in “vereor ut conentur.”
a. that they are trying b. that they are not trying  c.that they will try d. that they are being tried

e




2003 GJCL GRAMMAR EXAM

FILL IN THE FIRST FOUR BLOCKS OF THE ANSWER SHEET WITH OUR OWN FOUR
DIGIT CODE, THEN THE NEXT FOUR BLOCKS WITH THE CODE FOR THIS EXAM
(1013). Fill in completely the space on the answer sheet corresponding to the correct answer for
each question. DO NOT WRITE ON THE EXAM ITSELF.

1.

10.

1L

12.

15.

. The comparative of potentem is

The ablative singular of friictus is

a. friictum b. friictll c. frictur
Utor takes what case as its object?

a. genitive b. dative c. accusative

Which of the following represents an imperfect form of capio?

a. capiébam b. capigbitis c. capis
Milités debent esse <
a. dulcis b. stultae c. fortés

d. frictis

d. ablative

d. céperunt

d. fortibus

The following sentence shows what use of the ablative? “Hoc magna cum arte diximus.”

a. manner b. means Cc. accompaniment

What case is used to indicate the “indirect object?”

a. nominative b. genitive c. accusative

a. potentium b. potentidrem c. potentiodris

d. separation

d. dative

d. potentissimus

The following sentence shows what kind of subjunctive? “Studeamus linguam Latinam.”

a. purpose b. result C. jussive

“Puellae rosas nautis dant,” What is the correct form of the adjective?

a. bellus b. bellissimus c. bellis
“Mirabile dictdi” is an example of what?
a. supine b. ablative absolute c. optative
“Cicero saepe laudat s&.” How is sé translated?
a. him b. them c. her
What is the form for the 3 person plural imperfect active indicative of “e5”?
a. Tbam b. Tbant c. ierant
. “Sidoceas, discam.” What kind of condition is this? ;
a. Future Less Vivid b. Future More Vivid c. Mixed

What is the first person singular present active subjunctive of “fi5”?
a. flam b. flerem c. fIs
The genitive singular of “hic” is ?
a. huic b. haec c. hdrum

d. deliberative

d. bellae

d. passive periphrastic

d. himself

d. ieritis

d. Contrary to Fact Past

d. ﬁ—ebam

d. huius




16.

17.

18.

19.

20.

21.

22.

23,

24.

26.

27.

28.

29.

“Sacerddos Romands hortatus est.” How is this sentence transiated?

a. The Romans warned the priest. b. The priest warned the Romans.
c. The priest was warned by the Romans. d. The priest warns the Romans.

How is “ut” translated in the following sentence? “D& ut dés.”
a. as b. with a view to c. in order that

In a passive periphrastic construction, what case is used to show agency?
a. genitive b. dative c. accusative

3

In the following sentence, what is the antecedent? “Puella quam vided est pulchra.
a. puella b. quam c. pulchra

In the phrase “Amor legendi,” what form is “legendi”?
a. gerundive b. gerund c. partitive genitive

Which of the following is NOT an i-stem noun?
a. ovis b. ars c. niibés

The superlative form of “facilis” is .
a. facillimus b. facilior c. faciltssimus

What kind of construction is “vird captd”?

a. ablative of means b. ablative absolute c. ablative of agent
“Caesar peciiniam dat > What is the correct form of “men”?
a. Virgs b. viribus C. Viris

. Translate “they have praised.”

a. laudant b. laudaverunt ¢. laudabant

d. the fact that

d. ablative

d. not shown

d. passive periphrastic

d. natidé

d. facile

d. passive periphrastic

d. virds

d. laudabunt

‘What form of the relative pronoun would be used in the following sentence? “The soldier who loves war is a

fool.”
a. qul b. quod c. quae

“PaucT d& periculd codgitant.” How is “‘paucT” used in this sentence?
a. modifies periculd b. object of a preposition c. substantive adjective

The preposition “ad” takes what case?
a. genitive b. dative c. accusative

Which of the following is the intensive pronoun?
a. hic,haec,hoc b. ille,illa,illud c. qui,quae,quod

. “Magister puerd imperat.” Why is “puerd” in the dative case?

a. dative with special verb b. dative of agent c. dative of possession

d. cuius

d. adverbially

d. ablative

d. ipse,ipsa,ipsum

d. puerd is not dative
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2001 GJICL GRAMMAR EXAM

FILL IN THE FIRST FOUR BLOCKS OF THE ANSWER SHEET WITH YOUR OWN FOUR-
DIGIT CODE, THEN THE NEXT FOUR BLOCKS WITH THE CODE FOR THIS EXAM
(1013). Fill in completely the space on the answer sheet corresponding to the correct answer for
each question (DO NOT WRITE ON THE EXAM ITSELF)

1. Which adjective can modify the noun form “regum’?
a. bonum b. bonarum c. bonus d. bonorum
2. Fill in the blank: hortor te ut me.
a. sequeris b. secutus es c. sequaris d. secutus esses

3. Translate “They will have been seen”
a. vident b. vis1 erunt c. videbunt d. visi erant

4. Which is not a form of “vis™?
a. vi b. vim c.virum d. virés

5.What kind of construction is “viro captd”?
a. ablative of means b. ablative absolute c. ablative of agent d. ablative of separation

6. Which is the imperative of moneo?
a. mone b. moneas ¢. monent d. monitus es

7. Puertt débent esse
a. bonae b. fortibus c. sapienfés d. dulcis

, . d ; : 7 2 o
8 Which is the 3™ person, singular, active, perfect subjunctive of ago?
et ng ) P ] g
a. actus sit b. egerit c. egisset d.ageret

9. In a passive periphrastic construction, what is the case of the agent?
a. ablative b. accusative c. dative d. genitive

10. Fungor takes what case as its object?
a. dative b. accusative c. ablative d. genitive

11. “Studéamus ut sapientia nobis serviat”, why is serviat subjunctive?
a. result clause b. jussive noun clause c. purpose clause d. indirect question

12. Complete the following sentence with the correct form of “mind”:
p g
“anima est melior quam . i
a. mens b. mente c. ments d. mentes

13. The dative singular of ille is?
a. illus b. illT c. illos d. illo

14. How is ut translated in the following: mare est pulchrum ut caelum.
a. as b. so that c. that d. than




15. What is the adverb of acer?
a. aceriter b. acrior c.’acre d.acerrimus

16. Rogavimus quid pueri, :
a. vident b. videant ¢. vidérent d. viderit

17. Cum means “since”, when the verb in the cum clause is what mood?
a. imperative b. indicative c. subjunctive d. infinitive

18. A contrary to fact past condition uses verbs of what tense and what mood?
a. perfect/ indicative  b. pluperfect/ subjunctive c. imperfect/ indicative  d. perfect/ subjunctive

19. Possumus non puellas malas.
a. laudare b. laudant ¢. laudart’ d. laudamur

20. Which word or words in this sentence is grammatically incorrect: “senex bonus ab nobis diligendus est”.
a. senex b. bonus c. diligendus est d. ab niobis

21. The dative plural of the relative pronoun qui is:
a. cul b. cuius C. quos d. quibus

22. Ad plus the gerundive indicates what?
a. purpose b. result ¢. motion towards d. time when

23. Translate the relative pronoun in the following sentence: “Asklepios was a doctor to whom Apollo gave the
power of raising the dead.”

a. quis b. quibus ¢. quam d. cui

24. Negant Caesarem urbem .

a. rapuisse b. raptum esse c. rapiat d. raperet
25. Translate “they have touched™

a.tangunt b. tacti sunt c. tetigerunt d. tetigerint
26. Non timebimus, dummodo exercitus urbem.

a. haberet b. habeat c. habuisset d. habitus sit
27. The genitive of dives, rich, is?

a. divitis b. diviti c. divites d. divite

28. Par, paris takes what case?
a. dative b. ablative ¢. the same case par is in  d. accusative

29. Mirabilé dictu is an example of what?
a. ablative absolute  b. passive periphrasitc c. supine d. ablative of means

30. The third person plural perfect of €0 is:
a. i€runt b. Tbunt ¢.Trent d.Tssent




